== A
N & o & AF & H Al A
20198 & =0l &k L BHSIH Ml
A AL
PSRN =
el SHXIAE (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
A4 29,945,497 24,582,595 5,362,902
= 1,095,000
s 5,094,000
< 1,631,512
Al 22,124,985
Ngde2 14,973,000 10,010,000 4,963,000
= 175,000
< 60,000
Al 14,738,000
SHIIAE 3,783,000 4,350,000 A 567,000
282E2 700,000 300,000 400,000
401 A& BIZ 201 8] 700,000 300,000 400,000
01 Al& Hl 695,590 297,840 397,750
ORM-QE T2 HTHBA
700,000,000 *99.37% 695,590
03 A& =2 THHI 4,410 2,160 2,250
ORME T2 SHZXHIA
700,000,000& *0.63% 4,410
Qe ZAaal2t 500,000 300,000 200,000
401 Al Bl 28I 500,000 300,000 200,000
01 A& HI 496,400 297,840 198,560
ORelF~&¢ T2 SHIEIA
500,000,000& *99.28% 496,400
03 A& =2 I 3,600 2,160 1,440
OR2elF~&4 T2 SHIEIZA
500,000,000& *0.72% 3,600
dE20|2t 1,000,000 800,000 200,000
401 Al B2 2B 1,000,000 800,000 200,000
01 A& HI 993,700 794,960 198,740
OE&E~AI T SLEZA
1,000,000, 000& *99.37% 993,700
03 AIE 2 0H I 6,300 5,040 1,260
OH&E~2A)| T SILEZA
1,000,000,000& *0.63% 6,300
& ARA O 2t 400,000 0 400,000
401 Al& I & 28I 400,000 0 400,000
01 A& HI 397,120 0 397,120
OZM~NIl S5 EEZESA
400,000, 000& %99.28% 397,120
03 AIE =2 0HHI 2,880 0 2,880
OZM~ANIl S5 ESELESA
400,000, 000& *0.72% 2,880
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2N
X ZH -
L= B

el

iR
20T Nx
e
12 H

A&

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ANESX 22| 1,083,000 950,000 133,000
401 Al I 2 O8I 1,083,000 950,000 133,000
01 A& Bl 1,079,220 943,880 135,340
SHASANE SAZelAY
600,000,000& *99.37% 596,220
OF2EH ol &t 483,000
=8 LX0tE MYUZ SHZZBA 70,000
=X ¢E Otsotd SIS A 80,000
=X ,58572 A2 A SA 200,000
Ms Au0tE Y2 OtAE TMRD] 46,000
olg HAlts A=z 37,000
OtE Olsits MYE=Z =2 £X 50,000
03 AIE 2 0HHI 3,780 6,120 A 2,340
SHAUGSANS A 2elAr
600,000,000& *0.63% 3,780
gHR2w I A 100,000 0 100,000
401 Al Bl 28I 100,000 0 100,000
01 A& HI 99,100 0 99,100
Oel2w & BA 100,000, 000& *99. 1% 99,100
03 A& =2 THHI 900 0 900
o2 & ZA 100,000, 000& *0.9% 900
SHEEZ 3,050,000 4,310,000 A 1,260,000
ALY EEtw oA 300,000 1,300,000 A 1,000,000
401 A& BIZ 201 8I 300,000 1,300,000 A 1,000,000
01 Al& Hl 297,840 1,295,320 A 997,480
OA4tLY &8 w MHILE S AL
300,000,000& *99.28% 297,840
03 A& =2 THHI 2,160 4,680 A2,520
OA&tL &8 w MILE S AL
300,000,000& *0.72% 2,160
cEH 700,000 200,000 500,000
401 Al B2 28I 700,000 200,000 500,000
01 A& HI 695,590 198,560 497,030
OL8H sHEZ=Z SXZEIA
700,000,000& *99.37% 695,590
03 AIE 2 0H bl 4,410 1,440 2,970
OE2Hd SHEZZ SHEZTIA
700,000,000& *0.63% 4,410
atg s 500,000 0 500,000
401 Al B2 28I 500,000 0 500,000

- 415 -




o =Y

=i,
gHE2
OEL=Z

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
01 Al&H| 496,400 0 496,400
OMSN SOHEZZ SEFTA
500,000, 000& *99. 28% 496,400
03 AlE 201 Y| 3,600 0 3,600
Ouatstd s0EE 2 SHIEIEZA
500,000,000 *0.72% 3,600
AsH 300,000 0 300,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
01 A& H| 297,840 0 297,840
OASH SOEZ2 HEHBA
300,000, 000& *99. 28% 297,840
03 Al&E 201 Y| 2,160 0 2,160
OASH SOEZR HEHZA
300,000, 000& *0.72% 2,160
EEER A2 1,050,000 1,110,000 A 60,000
401 A& HI L 204 HI 1,050,000 1,110,000 A 60,000
01 Al&H| 1,042,980 1,102,800 A 59,820
OsHEESZ SASEAIY
600,000, 000& *99.37% 596,220
OAMOlI sHES 10656 (285sW) 25
HE S A 450,000, 000& x99.28% 446,760
03 Al 201 Y| 7,020 7,200 A 180
OsHEESZ FASEAY
600,000, 000& *0.63% 3,780
OAl SHEEZ2 10636 (B2Esstn) o0&
HE S A 450,000, 000& *x0.72% 3,240
=M 200,000 0 200,000
401 Al HI L 2 0HHI 200,000 0 200,000
01 Al& H| 198,560 0 198,560
OlEd sHEX SHIL A DA}
00,000, 000& x99 . 28% 198,560
03 Al&E 201 Y| 1,440 0 1,440
OHlEd sHETZ SHILIZA
200,000,000 *0.72% 1,440
EdH=H 1,700,000 1,350,000 350,000
olg s Mgz FHl 600,000 0 600,000
401 AlEHIZL 2 0HY| 600,000 0 600,000
01 Al& b 596,220 0 596,220
Ood =202 gz FH|
600,000,000 *99.37% 596,220
03 AlE 20| 3,780 0 3,780
Ood =202 &gz HH|
600,000,000 *0.63% 3,780
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2N
X ZH -
L= B

el

om =y
0% 0T nx
M &

T8 H

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
22 g 82 F 500,000 300,000 200,000
401 Al HI K 201 I 500,000 300,000 200,000
01 A& Bl 496,400 297,840 198,560
OEZ Ueors dgz FHl
500,000,000& *99.28% 496,400
03 Al 2 THHI 3,600 2,160 1,440
OEZ Ueors dgz Fl
500,000,000& *0.72% 3,600
S st Y= F 300,000 0 300,000
401 AIEHI L 201 300,000 0 300,000
01 A& Hl 297,840 0 297,840
OYl HHatolS Y2 &l
300,000,000& *99.28% 297,840
03 Al 2 0HHI 2,160 0 2,160
OY 1t bHatolS Y2 &l
300,000,000& *0.72% 2,160
CHeE oA &Y= FHI 300,000 0 300,000
401 AIEHI L 201 300,000 0 300,000
01 A& HI 297,840 0 297,840
OMHat SHOHAIOIES &2 Hl
300,000,000& *99.28% 297,840
03 Al S HHI 2,160 0 2,160
OMHat SHOHAIOIES &Y Z2 Hl
300,000,000 *0.72% 2,160
FETE SEMHE 1,500,000 0 1,500,000
=& 2956 AEE=Z Mo 450,000 0 450,000
401 Al HIZ 2018 450,000 0 450,000
01 A& HI 446,760 0 446,760
OZE295 d (X2l AHIC~OIEHAMREA)EEZ
S 450,000, 000& *99.28% 446,760
03 Al = THHI 3,240 0 3,240
OZE295 & (Kl AHC~-Ol S HAIRA)AE S E
HENH 450,000, 000& x0.72% 3,240
2= 28 g2 d8HA 350,000 0 350,000
401 A& HIZ 201 Y] 350,000 0 350,000
01 A& HI 347,480 0 347,480
O28 28 A8z dE€iHd
350,000,000& *99.28% 347,480
03 A& S THHI 2,520 0 2,520
O28 28 A8z de€iHd
350,000,000& *0.72% 2,520
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EXN: A4
Mz XgHE2
ol ECR dEde CEEEED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=X & e HdSEIHH 450,000 0 450,000
401 AlEHIZL 201 Y| 450,000 0 450,000
01 A& H| 446,760 0 446,760
OxX & g2 A8
450,000, 000& x99. 28% 446,760
03 Al& 2 0HHI 3,240 0 3,240
Ol & g2 A8
450,000, 000& *x0.72% 3,240
Old 285 A8z HEIHH 250,000 0 250,000
401 Al HI L 2 0HHI 250,000 0 250,000
01 Al&H| 248,200 0 248,200
Olld 8= g2 A8IMA
250,000, 000& *99.28% 248,200
03 Al 201 Y| 1,800 0 1,800
Ot 8= gz Ad8IMA
250,000, 000& *0.72% 1,800
HAEET2Z2 SAl&2 4,940,000 0 4,940,000
= 175,000
= 60,000
Al 4,705,000
wE(HE) X2 400,000 0 400,000
401 Al HI L £ 0HHI 400,000 0 400,000
01 Al& b 396,940 0 396,940
QU (HYE) KA2e B4
300,000, 000 99 . 28% 297,840
ORY H&LZA L BRE 8Y
100,000,000 *99. 10% 99,100
03 AlE 2 HH] 3,060 0 3,060
QU (HYE) RA2e B4
300,000,000 *0.72% 2,160
Ong @+ZA L BTE B
100,000,000 *0.90% 900
NE2ZX 2 &2 1,000,000 0 1,000,000
401 AlEHIZL 2 0HY| 1,000,000 0 1,000,000
01 Al& H| 993,700 0 993,700
OIDE~ZXNUXNE &8 SEZEAZA
1,000,000, 000& *99.37% 993,700
03 AlE 20| 6,300 0 6,300
OIDE~ZXNUXNE &8 SEZEAZA
1,000,000, 000 *0.63% 6,300
ceildeES 1,140,000 0 1,140,000
401 AlEHIZL £ 0HY| 1,140,000 0 1,140,000
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A AL
M SEe=2
ool HECZ X2 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 1,131,288 0 1,131,288
OEERX&el2x (AN BEEZ)
500,000,000& *99.28% 496,400
OgdEs MEE 500,000,000 *99. 28% 496,400
OStEAIZE &l 50,000, 000& *98.92% 49,460
O ZXE Fyl 50,000,000& *98.92% 49,460
Ou=2XE &l 40,000, 000& %98.92% 39,568
03 Al =20 HI 8,712 0 8,712
OZ2RN&2E2=(AIX HEEZ)
500,000,000& *0.72% 3,600
OgdE=zs MEE 500,000,000& *0.72% 3,600
OStEAIZEE &l 50,000, 000& =1.08% 540
OEZ EX & Fdl 50,000,000 x1.08% 540
Ou=2X4e &l 40,000,000 =1.08% 432
LE S ZANEE JH| 600,000 0 600,000
401 A& BIZ 201 8I 600,000 0 600,000
01 Al& bl 595,680 0 595,680
OLE 8XX7 E72FH
300,000,000 *99. 28% 297,840
O=gn = F| 300,000,000& *99.28% 297,840
03 AIE 2 0HHI 4,320 0 4,320
O&s 87 532FH|
300,000,000& *0.72% 2,160
OFgw 2&FH| 300,000,000& *0.72% 2,160
ZdoMe Helxd 900,000 0 900,000
401 Al B2 2B 900,000 0 900,000
01 A& HI 894,330 0 894,330
OZAe Hel 24(E8gu~-s2 W)
900,000,000& *99.37% 894,330
03 AIE 2 0H bl 5,670 0 5,670
OZAe Hel 24(E8gu~-s8 W)
900,000,000& *0.63% 5,670
SY=clli X 400,000 0 400,000
401 Al& I 28I 400,000 0 400,000
01 A& HI 397,120 0 397,120
OSttts SAZ el (W A4t~ 2 10)
400,000, 000& *99.28% 397,120
03 AIE 2 0HHI 2,880 0 2,880
OSttts SLZ el (W A4t~ 2 (C)
400,000,000& *0.72% 2,880
nsSAtD 2 2 HEAS 70,000 0 70,000
= 35,000
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SN AAD
HEM: f|ege=2
e HAEZZ2 X2 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 35,000
401 AlEHIZL £ 0HY| 70,000 0 70,000
= 35,000
Al 35,000
01 Al&EH| 69,370 0 69,370
O=sg W AtHE WEAMD HE 2 NS Z2A
70,000,000& *99.10% 69,370
= 34,685
Al 34,685
03 AlE 21| 630 0 630
OsSdE W AtAHE DEALD &2 =2 A Z2A
0,000,000& *0.90% 630
= 315
Al 315
SIMWAZE AXAIS 280,000 0 280,000
= 140,000
Al 140,000
401 AlEHIZL £ 0HY| 280,000 0 280,000
= 140,000
Al 140,000
01 Al&H| 277,984 0 277,984
OID=NX2 3ldNIZ2 &X2A
280,000,000 *99. 28% 277,984
= 138,992
Al 138,992
03 AlE 201 Y| 2,016 0 2,016
OID=NX2 3|dUIZ2 &X2A
280,000,000 *0.72% 2,016
= 1,008
Al 1,008
HAEZUL AEZS tEEA 150,000 0 150,000
& 60,000
Al 90,000
401 AlEHIZL £ 0HY| 150,000 0 150,000
& 60,000
Al 90,000
01 Al&H| 148,920 0 148,920
OB HAANLEE HLUOIEEHA
150,000,000 *99.28% 148,920
& 59,568
Al 89,352
03 AlE 201 Y| 1,080 0 1,080
OHAEZCIHAMAEE AU EAH
150,000,000 *0.72% 1,080
& 432
Al 648
c2ae 1,038,804 4,215,113 N3,176,309
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2N
X ZH -
L= B

el

M1 Y
MU Hu
0 1 i
>

E_J_

cl

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 6,712
Al 1,032,092
2RI 2 638,804 3,712,006 A 3,073,202
< 6,712
Al 632,092
Aol O 2 297,520 275,520 22,000
201 ¢er24| 103,500 103,500 0
01 At 22l 103,500 103,500 0
OBEEZ M&E, ME=XE Sz
6,000,000& »4CH+3& 72,000
O1EEZ M Iz
3,500,000 =301 +3& 31,500
206 M= Hl 166,020 142,020 24,000
01 =8l 166,020 142,020 24,000
OEZHNLE Satzs 7 50,000
OLZHEE 23 P2¥ 50,000
OEZHMEE Zd=0HL 2 2503 *20,0000H 5,000
OSY MU SFU(MEHE)
1,800& «600L* 19 S & 20,520
OEZHLE 2 7& 6,000& x1,500m’ 9,000
ONM&I DeaY TY(EAHTES)
250,000 »20CH 5,000
OM&DI NREY(UHSERE)
250,000& = 10CH 2,500
OM&D dHI(SHSE) 800,000& »30CH 24,000
405 XHoHF S HI 28,000 30,000 A 2,000
01 At EZFH S 28,000 30,000 A 2,000
OEdUH 2x& M4 FY(SHSE)
2,800,000 =10CH 28,000
EZAE 22 259,072 2,335,986 22,076,914
201 Let249] 174,917 171,000 3,917
01 At 22l 33,567 31,167 2,400
OLer+=EH (2 RMUMM-E2 BAHASY =48)
339,000& =102 X 3,390
O=33Ma AEHZEA BASE 2 11,200
Oget=&H| 10,477
OE2Exd 0= P2 300,000& x12H 3,600
O8Z 2RI, &#H5) II= 7
300,000 »8H 2,400
OHEAY L2 (=2FHI) 2,500
02 2324l 141,350 139,833 1,517
Oz22= & HMA 79,322
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A R =y
M. T2l
o2l SR (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 2R a RHH =2
119,000 1270 & 1,428
OXNSERXBI(RFCH) 3,800,000& 1201 & 45,600
OXeEa2lg (HELAREH!)
800,000 1201 & 9,600
Oxsd=Egz Hal 600,000& +9CH 5,400
203 B R =&l 3,000 3,000 0
03 AIMZ=XH =AY 3,000 3,000 0
OALBHAD AlMEZ 3,000
206 M= Hl 63,940 49,940 14,000
01 =4l 63,940 49,940 14,000
OE2AME4+E MM (S3HE 25kg)
25,0002 x1,000%£ 25,000
OXNEHEZ 2= X (SSCON)
22,000 500 11,000
OFE2ALE+E XM (0FAZE 25kg)
22,000 200 4,400
OE2AMES+E XM(0tAZ) 88,0008 *80E 7,040
OL2A2MESE XM (AMUE) 6,600 x200% 1,320
OE2AMES+E ANM(EEEH)

132,000& =308t cll & 3,960

OcLz2E=2=E78 NM(=&2M)
4,950& «1,800m 8,910
OcLzE82=+8 MM (HOAZ)
7,700& *300m 2,310
301 €EtE &= 7,215 13,016 25,801
12IIEtE2a= 7,215 13,016 25,801
OusExZA B#OHA EAS(MNZE)
66,8002 x 1874 A6 7,215
401 AIEHIZ 2 I 10,000 1,724,000 A 1,714,000
01 A& HI 10,000 1,713,488 A 1,703,488
OXot= HE &=+ 2,500,000 x4 10,000
XNAXIots 2EAE(EZ2SY)LEX 75,500 75,500 0
401 AIEHIZ 2 THYI 75,500 75,500 0
01 A& dl 75,500 75,500 0
OXlcts 2SANLE(EZ252)4X
2=ZH 2 et E 15,100,0003 50K 2~ 75,500
wnEE A 6,712 0 6,712
S 6,712
301 gEtE &= 6,712 0 6,712
S 6,712
R2IIEtEd= 6,712 0 6,712
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A R =y
3 S 2z
o2l SR (=& J)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUNSEEZAL Z2HA B&AZ(XSE)
79,900 +2H +3 ) CH+ 1401 & 6,712
= 6,712
2B 42 400,000 503,107 A 103,107
A e 100,000 100,000 0
305 HH&a =S 100,000 100,000 0
o1 Hia=s 100,000 100,000 0
OFRE0S3 28AH 22 a3 100,000
ey 300,000 403,107 A 103,107
401 Al HIZ 201 I 300,000 403,107 A 103,107
01 A& HI 300,000 403,107 A 103,107
OOIEEX(AIRX HAZTZ )B4 300,000
ot FHl 13,889,213 10,313,002 3,576,211
= 920,000
as 5,094,000
< 1,564,800
Al 6,310,413
ot & 22| 2,701,213 3,837,668 A 1,136,455
= 920,000
< 148,000
Al 1,633,213
ot |Xl2el 1,369,920 1,441,920 AT2,000
201 Let24E] 5,300 5,300 0
01 At 22l 5,300 5,300 0
Octa s X &cAY =HE et =235 € 2,000
Ootd =SHAS HUILX(EAH/FH) 3,300
206 M= Hl 4,620 4,620 0
01 M= 4l 4,620 4,620 0
OJIdHd &EHl 223 4,620
IS MABH SFSUHEA/ZA)
880,000& *43] 3,520
=D 2L 1A (EAH/FA)
550,000& *23] 1,100
401 Al HIZ 201 8] 1,360,000 1,432,000 AT72,000
01 A& HI 1,353,376 1,423,648 AT0,272
Ootd X 22l Ab (34904 &, L=392kmZ  15km)
520,000,000& *99.28% 516,256
O0otd ot F & A (34901 &, L=392kmZ 20km)
400,000, 000& x99.28% 397,120
OF &0 0l &t 440,000
CHe MEA HHIAY 52,000
A =& =& FHl 16,000

- 423 -




2N
X ZH -
L= B

el

= - 4 14
E - G2 (3H) - NRAY - BAES e HlnE2
AtOR 2E=A EHl 15,000
4t =& MY s2E(Isd) =2 72,000
S SH=d (#H) 25,000
g Z40EE Z(YsA) Zdl otA 70,000
dt 523 Ful(2H) 80,000
Ot 2 X& HHAY 70,000
otg seld Fl 40,000
03 Al S THHI 6,624 8,352 A1,728
Ootd KA 2l A 520,000,000& *0.72% 3,744
Ootd StEEL ALY 400,000,000& *0.72% 2,880
| & X=X 2el 115,293 162,748 ANAT,455
101 1A Hl 36,556 27,711 8,845
04 JIZHHZ2XREE S 36,556 27,711 8,845
OdtENY SN2 AUHA(RH)
141,510 23] x 15«5 21,227
OZXE MEHBH olsgf
66,800%23 x 10«3 4,008
OBXE MEHBY +222 ARY
141,510%23] *10H x4 L 11,321
201 £B-2dH| 25,637 25,037 600
02 =24l 25,637 25,037 600
O23LEDIAEE) dijotdae Haxs2
154, 7003 * 1200 & 204 & 3,713
O3LB20N&8) I3
752,000 #1200 & 204 & 18,048
ORd A2 ZGAN4E dIIes
91,0003 1200 & 304 & 3,276
OFXNE MEHIA IJI2S HIIRS
50,0003 #1200 & =104 & 600
206 M= Hl 1,100 0 1,100
01 =8l 1,100 0 1,100
OZxd MBS 2 ARE 7Y
550,000& »23] 1,100
401 AIEHI L 20 52,000 90,000 238,000
01 A& Bl 52,000 90,000 238,000
OZXE HMEHold =SJAANY AZ2LHE &9
52,000,000& =14 52,000
I8N (BEX) 296,000 96,000 200,000
< 148,000
Al 148,000
401 AIEHI L 2 CHYI 296,000 96,000 200,000
< 148,000
Al 148,000
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SN A
M ofd FHHl
cHel: stE e (29l & 2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 Al&HI 296,000 96,000 200,000
OBtEMY |X2+ 96,000
= 48,000
Al 48,000
Ogt=d Mg E=22 200,000
< 100,000
Al 100,000
216t RAES MG (EX) 920,000 0 920,000
= 920,000
101 @14 Hl 8,645 0 8,645
= 8,645
04 JIZHHZ2XNHEE S 8,645 0 8,645
O =it th+=2 22l Xkt 8,645
= 8,645
201 L2l 1,000 0 1,000
= 1,000
02 2324l 1,000 0 1,000
O =Itotd FRANES =2 &8Iz € =8
= 1,000
= 1,000
206 M= Hl 4,000 0 4,000
= 4,000
01 =8l 4,000 0 4,000
O =Itotd RANE= M=EE A 225 2 4,000
= 4,000
401 AIEHIZ 28I 906,355 0 906, 355
= 906,355
01 A& Bl 906,355 0 906, 355
O 2Jtotd |RXNE= ALY 906,355
= 906,355
of & XH off Ol 2F 11,188,000 6,475,334 4,712,666
s 5,094,000
S 1,416,800
Al 4,677,200
A0H& FHI(AHAN) 1,000,000 0 1,000,000
401 Al HIZ 201 I 1,000,000 0 1,000,000
01 A& Bl 1,000,000 0 1,000,000
OZsts AAE HUAY 500,000
OEutH 268d HUALY 500,000
A0t FHI(2X) 3,104,000 2,066,000 1,038,000
s 1,552,000
Al 1,552,000
401 AIEHIZ 28I 3,104,000 2,066,000 1,038,000
s 1,552,000
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= - — SHE|
CHE - EI(BA) - NRAY - BYS e Hl D= 2t
Al ,552,000
01 A& HI 3,092,725 2,057,410 1,035,315
OnEA FH| 2,323,605
s 1,166,000
Al 1,157,605
Ogsa Ftl 400,000, 000& *99.28% 397,120
as 200,000
Al 197,120
O2E=& FH| 372,000
s 186,000
Al 186,000
03 Al 2 THHI 11,275 8,590 2,685
On&EA FH| 8,395
Ogsd Ztl 400,000, 000& *0.72% 2,880
2ot F MG (X2 4H) 4,360,000 2,697,667 1,662,333
s 2,180,000
< 872,000
Al ,308,000
401 AIEHI L 20 4,360,000 2,697,667 1,662,333
s 2,180,000
= 872,000
Al ,308,000
01 A& HI , 343,440 2,680,672 1,662,768
O&XAE Xeotd HUIAY ,713,808
s 860,000
< 344,000
Al 509,808
O3 oldEH & =32 ZEAE ,391,360
s ,200,000
< 480,000
Al 711,360
OCHetd X eotd HUIAY 238,272
s 120,000
< 48,000
Al 70,272
03 A& 2 THHI 16,560 16,995 A 435
OsXd Xgstd HHIAHY 6,192
OF&EH otdFH & A=+=328 ZEAY 8,640
OCHarA X2atA HUIAY 1,728
ot FHIAL (G S22H) , 724,000 1,711,667 1,012,333
as ,362,000
< 544,800
Al 817,200
401 Al B2 28I , 724,000 1,711,667 1,012,333
s 1,362,000
< 544,800
Al 817,200
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SN AL

M ofd FHHl
S SHETHOH Ol 'Y (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 2,714,194 1,700,883 1,013,311
OZd Xeotd FHIAY 2,714,194
s 1,362,000
< 544,800
Al 807,394
03 A2 2 THHI 9,806 10,784 A978
OZ& X&otd HUA 9,806
HY2FZH (AL D) 44,480 44,480 0
Jl2dd (A &) 44,480 44,480 0
Jl2dH (A1) 44,480 44,480 0
201 Let24d] 8,000 8,000 0
01 At 2teltl 8,000 8,000 0
OSH(HR VLD (LHUHE, +H=T)
o2 ) 4,000
OSZH(Z2E+E HIAZ22(S2, HE, A
VERSTl 3,000
O+ (C2B2ANS HALL)
100,000& =10 1,000
202 04l 31,200 31,200 0
01 S LHOIYI 31,200 31,200 0
O=U A bl 24,000
OLBA(HXIE), otd SHE =0l
1,200,000& 6 7,200
203 YR =&l 5,280 5,280 0
04 RN2ELRZ=TH| 5,280 5,280 0
ORM2IYRFL 5,280
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